
Dat ash eet

Tubular enclosures for EZ-SCREEN LS m odels m ounted in washdown environm ents.

• FDA-grade polycarbonate tubing and acetal end caps

• Stainless steel m ount ing com ponents

• Brackets and fasteners included

• I deal for high-pressure washdown applicat ions

• I EC I P67, I P69K

• Twenty- three m odels are available to accom m odate EZ-SCREEN®  LS m odels

The EZLSA-TE Series Tubular Enclosure is designed specifically for use with Banner EZ-SCREEN LS em it ters and receivers.
The enclosures are const ructed of FDA-approved rugged polycarbonate tubing with FDA-approved acetal end caps. The
enclosures are m ounted with stainless steel m ount ing brackets and fasteners.

Using the enclosure affects the sensing range of the sensor used. When used in pairs, the range can be reduced by 30% .

W h en  u sin g  t h e en closu r e, y ou  m u st  u se an  RDLS co r d set , w h ich  is so ld  sep ar at e ly .  Refer to the EZ-SCREEN LS

I nst ruct ion Manual (p/ n 179480)  for a com plete list  of available cordsets.

Sen sor  Mod el Tu b u lar  En closu r e Mod el Sen sor  Mod el Tu b u lar  En closu r e Mod el

SLL..-280.. EZLSA-TE-280 SLL..-1050.. EZLSA-TE-1050

SLL..-350.. EZLSA-TE-350 SLL..-1120.. EZLSA-TE-1120

SLL..-420.. EZLSA-TE-420 SLL..-1190.. EZLSA-TE-1190

SLL..-490.. EZLSA-TE-490 SLL..-1260.. EZLSA-TE-1260

SLL..-560.. EZLSA-TE-560 SLL..-1330.. EZLSA-TE-1330

SLL..-630.. EZLSA-TE-630 SLL..-1400.. EZLSA-TE-1400

SLL..-700.. EZLSA-TE-700 SLL..-1470.. EZLSA-TE-1470

SLL..-770.. EZLSA-TE-770 SLL..-1540.. EZLSA-TE-1540

SLL..-840.. EZLSA-TE-840 SLL..-1610.. EZLSA-TE-1610

SLL..-910.. EZLSA-TE-910 SLL..-1680.. EZLSA-TE-1680

SLL..-980.. EZLSA-TE-980 SLL..-1750.. EZLSA-TE-1750

SLL..-1820.. EZLSA-TE-1820

CAUTI ON:  Red u ced  Sen sin g  Ran g e—Sensing range is reduced 30%  because of tubular const ruct ion.

W ARNI NG:  Main t a in  Req u i r ed  Sep ar at ion  Dist an ce— The light  screen produced by the opt ical
safety system  sensors m ust  be placed at  a m inim um  safe distance from  the dangerous m ot ion of the
m achine being guarded. This necessary m inim um  distance is called the separat ion distance, and is

discussed in the inst ruct ion m anual. Failure to calculate this distance correct ly and to m aintain

m inim um  separat ion distance can result  in serious injury.

EZLSA- TE Ser ies Tu b u lar  En closu r e   

Original Docum ent
187899 Rev. A

9 February 2016

187899

http://info.bannersalesforce.com/intradoc-cgi/nph-idc_cgi.exe?IdcService=GET_FILE&dDocName=179480&RevisionSelectionMethod=Latest&Rendition=web


Assem b l in g  t h e Tu b u lar  En closu r e

St ep Descr ip t ion I l lu st r a t ion

1 I nstall the long halves of the EZLSA-MBK-11 brackets onto both
ends of the light  curtain using the supplied hardware and t -nuts.
The short  halves of the EZLSA-MBK-11 brackets are not  used in
this applicat ion. The brackets should slide onto the light  curtain
unt il they m ate with the end cap.

Tighten the screws, but  do not  exceed a m axim um  torque of 36
in- lbs.

2 With the cordset  and the EZLSA-MBK-11 end brackets installed,
fasten the spacer disk onto the bracket  at  the cabled end of the
sensor using the two M5 ×  6 m m  stainless steel screws.

Tighten the screws to a torque of 10 to 15 in- lbs.

3 Verify the white gasket  is pressed into the top cap and the

through holes in the gasket  are aligned with the through holes in

the top cap.

Reposit ion the gasket  if necessary.

Place an O- r ing in the groove near the outside edge of the top

cap.

Screw the top cap onto the bracket  at  the non-cabled end of the

sensor housing using the two M5 ×  14 m m  stainless steel screws

and the internal tooth lock washers.

Tighten the screws to a m inim um  torque of 20 in- lbs.

4 Being careful not  to scratch the tubular housing, slide the tube

around the sensor beginning with the cabled end of the sensor
and the non- labeled end of the tubular housing.

Push the sensor through the housing unt il the cordset  com es out

the opening at  the labeled end of the tube.

  EZLSA-TE Series Tubular Enclosure

2 www.bannerengineering.com  -  Tel:  + 1-763-544-3164 P/ N 187899 Rev. A



St ep Descr ip t ion I l lu st r a t ion

5 Screw the top cap to the flange on the clear tube using four
# 6-32 screws and split  r ing lock washers.

Torque the screws between 10 and 15 in- lbs.

6 Place the O- r ing in the groove near the outside edge of the
bot tom  cap, and slide the bot tom  end cap over the unterm inated
end of the cordset .

Screw the bot tom  cap to the flange on the clear tube using the
rem aining four # 6-32 screws and split  r ing lock washers.

Torque the screws between 10 and 15 in- lbs. Tighten the st rain

relief nut  around the cordset  unt il the cable jacket  is

com pressed.

7 Place the m ount ing bracket  on the bot tom  cap so the cordset

passes through the center of it .

Secure the bracket  to the bot tom  cap using two # 10-32 screws

and external tooth lock washers.

Tighten the screws, but  do not  exceed a m axim um  torque of 50

in- lbs.

8 Place the second m ount ing bracket  on the top cap and secure it

with two # 10-32 screws and external tooth lock washers.

Tighten the screws, but  do not  exceed a m axim um  torque of 50
in- lbs.

EZLSA-TE Series Tubular Enclosure   

P/ N 187899 Rev. A www.bannerengineering.com  -  Tel:  + 1-763-544-3164 3



Ad j acen t  Ref lect i v e Su r f aces

W ARNI NG:  Av o id  I n st a l la t ion  Near  Ref lect i v e Su r f aces

Avoid locat ing the defined area near a reflect ive surface;  it  could reflect  sensing beam (s)  around an
object  or person within the defined area, and prevent  its detect ion by the EZ-SCREEN LS. Perform  the
t r ip test , as described in the m anual, to detect  such reflect ion(s)  and the resultant  opt ical short  circuit .
Fai lu r e t o  p r ev en t  r ef lect ion  p r ob lem s w i l l  r esu l t  in  in com p let e g u ar d in g  an d  cou ld  r esu l t  in

ser iou s in j u r y  o r  d eat h .

A reflect ive surface located adjacent  to the defined area m ay deflect  one or m ore beam s around an object  in the defined
area. I n the worst  case, an opt ical short  circuit  m ay occur, allowing an object  to pass undetected through the defined area.

This reflect ive surface m ay result  from  shiny surfaces or glossy paint  on the m achine, the workpiece, the work surface, the
floor, or the walls. Beam s deflected by reflect ive surfaces are discovered by perform ing the t r ip test  and the periodic
checkout  procedures. To elim inate problem  reflect ions:

• I f possible, relocate the sensors to m ove the beam s away from  the reflect ive surface(s) , being careful to m aintain
adequate separat ion distance

• Otherwise, if possible, paint , m ask, or roughen the shiny surface to reduce its reflect ivity

• Where these are not  possible (as with a shiny workpiece or m achine fram e) , determ ine the worst -case resolut ion

result ing from  the opt ical short  circuit  and use the corresponding depth penet rat ion factor (Dpf or C)  in the Safety

Distance (Minim um  Distance)  form ula;  or m ount  the sensors in such a way that  the receiver 's field of view and/ or

the em it ter 's spread of light  are rest r icted from  the reflect ive surface

• Repeat  the t r ip test  to verify that  these changes have elim inated the problem  reflect ion(s) . I f the workpiece is
especially reflect ive and com es close to the defined area, perform  the t r ip test  with the workpiece in place

Do not position reflective surfaces within the shaded area

Operating Range
(R)

ReceiverEmitter
d

d

For 0.1 to 3 m  (4 in to 10 ft )  Operat ing range:  d =  0.13 m  (5 in)

For Operat ing range >  3 m  (>  10 ft ) :  d =  0.0437 ×  R (m  or ft )

Figure 1. Adjacent  Reflect ive Surfaces

  EZLSA-TE Series Tubular Enclosure

4 www.bannerengineering.com  -  Tel:  + 1-763-544-3164 P/ N 187899 Rev. A



Dim en sion s

L1

L2

L3

X
L4

15.2 mm 85.5 mm I n clu d ed  w i t h  each  EZLSA-

TE Ser ies Tu b u lar

En closu r e

Qu an t i t y

Spacer 1

Top end cap 1

Bot tom  end cap 1

Polycarbonate tube 1

O-ring (# 142) 2

Mount ing bracket 2

M5 ×  6 m m  screw 2

M5 ×  14 m m  screw 2

M5 internal tooth lockwasher 2

# 6-32 screw 8

# 6 Split - r ing lockwasher 8

# 10-32 screw 4

# 10 External tooth lockwasher 4

All m easurem ents are listed in

m illim eters ( inches) , unless noted

otherwise.

En closu r e Mod el L1 L2 L3 L4 X

EZLSA-TE-280 398 m m  (15.7 in) 373 m m  (14.7 in) 343 m m  (13.5 in) 307 m m  (12.1 in) 285 m m  (11.2 in)

EZLSA-TE-350 475 m m  (18.7 in) 450 m m  (17.7 in) 419 m m  (16.5 in) 377 m m  (14.8 in) 355 m m  (14.0 in)

EZLSA-TE-420 538 m m  (21.2 in) 513 m m  (20.2 in) 483 m m  (19.0 in) 446 m m  (17.6 in) 425 m m  (16.7 in)

EZLSA-TE-490 614 m m  (24.2 in) 589 m m  (23.2 in) 559 m m  (22.0 in) 516 m m  (20.3 in) 495 m m  (19.5 in)

EZLSA-TE-560 678 m m  (26.7 in) 653 m m  (25.7 in) 622 m m  (24.5 in) 586 m m  (23.1 in) 564 m m  (22.2 in)

EZLSA-TE-630 754 m m  (29.7 in) 729 m m  (28.7 in) 699 m m  (27.5 in) 656 m m  (25.8 in) 634 m m  (25.0 in)

EZLSA-TE-700 817 m m  (32.2 in) 792 m m  (31.2 in) 762 m m  (30.0 in) 726 m m  (28.6 in) 704 m m  (27.7 in)

EZLSA-TE-770 894 m m  (35.2 in) 869 m m  (34.2 in) 838 m m  (33.0 in) 796 m m  (31.3 in) 774 m m  (30.5 in)

EZLSA-TE-840 957 m m  (37.7 in) 932 m m  (36.7 in) 902 m m  (35.5 in) 865 m m  (34.1 in) 844 m m  (33.2 in)

EZLSA-TE-910 1033 m m  (40.7 in) 1008 m m  (39.7 in) 978 m m  (38.5 in) 935 m m  (36.8 in) 914 m m  (36.0 in)

EZLSA-TE-980 1097 m m  (43.2 in) 1072 m m  (42.2 in) 1041 m m  (41.0 in) 1005 m m  (39.6 in) 983 m m  (38.7 in)

EZLSA-TE-1050 1173 m m  (46.2 in) 1148 m m  (45.2 in) 1118 m m  (44.0 in) 1075 m m  (42.3 in) 1053 m m  (41.5 in)

EZLSA-TE-1120 1237 m m  (48.7 in) 1212 m m  (47.7 in) 1181 m m  (46.5 in) 1145 m m  (45.1 in) 1123 m m  (44.2 in)

EZLSA-TE-1190 1313 m m  (51.7 in) 1288 m m  (50.7 in) 1257 m m  (49.5 in) 1215 m m  (47.8 in) 1193 m m  (47.0 in)

EZLSA-TE-1260 1376 m m  (54.2 in) 1351 m m  (53.2 in) 1321 m m  (52.0 in) 1284 m m  (50.6 in) 1263 m m  (49.7 in)

EZLSA-TE-1330 1452 m m  (57.2 in) 1427 m m  (56.2 in) 1397 m m  (55.0 in) 1354 m m  (53.3 in) 1333 m m  (52.5 in)

EZLSA-TE-1400 1516 m m  (59.7 in) 1491 m m  (58.7 in) 1461 m m  (57.5 in) 1424 m m  (56.0 in) 1402 m m  (55.2 in)

EZLSA-TE-1470 1592 m m  (62.7 in) 1567 m m  (61.7 in) 1537 m m  (60.5 in) 1494 m m  (58.8 in) 1472 m m  (58.0 in)

EZLSA-TE-1540 1656 m m  (65.2 in) 1631 m m  (64.2 in) 1600 m m  (63.0 in) 1564 m m  (61.6 in) 1542 m m  (60.7 in)

EZLSA-TE-1610 1732 m m  (68.2 in) 1707 m m  (67.2 in) 1676 m m  (66.0 in) 1634 m m  (64.3 in) 1612 m m  (63.5 in)

EZLSA-TE-1680 1795 m m  (70.7 in) 1770 m m  (69.7 in) 1740 m m  (68.5 in) 1703 m m  (67.1 in) 1682 m m  (66.2 in)

EZLSA-TE-1750 1872 m m  (73.7 in) 1847 m m  (72.7 in) 1816 m m  (71.5 in) 1773 m m  (69.8 in) 1752 m m  (69.0 in)

EZLSA-TE-1820 1935 m m  (76.2 in) 1910 m m  (75.2 in) 1880 m m  (74.0 in) 1843 m m  (72.5 in) 1821 m m  (71.7 in)

EZLSA-TE Series Tubular Enclosure   

P/ N 187899 Rev. A www.bannerengineering.com  -  Tel:  + 1-763-544-3164 5



Ban n er  En g in eer in g  Cor p . Lim i t ed  W ar r an t y

Banner Engineering Corp. warrants its products to be free from  defects in m aterial and workm anship for one year following the date of shipm ent . Banner Engineering Corp.
will repair or replace, free of charge, any product  of its m anufacture which, at  the t im e it  is returned to the factory, is found to have been defect ive during the warranty

period. This warranty does not  cover dam age or liabilit y for m isuse, abuse, or the im proper applicat ion or installat ion of the Banner product .

THI S LI MI TED W ARRANTY I S EXCLUSI VE AND I N  LI EU OF ALL OTHER W ARRANTI ES W HETHER EXPRESS OR I MPLI ED ( I NCLUDI NG, W I THOUT LI MI TATI ON,

ANY W ARRANTY OF MERCHANTABI LI TY OR FI TNESS FOR A PARTI CULAR PURPOSE) , AND W HETHER ARI SI NG UNDER COURSE OF PERFORMANCE, COURSE

OF DEALI NG OR TRADE USAGE.

This Warranty is exclusive and lim ited to repair or, at  the discret ion of Banner Engineering Corp., replacem ent . I N  NO EVENT SHALL BANNER ENGI NEERI NG CORP. BE

LI ABLE TO BUYER OR ANY OTHER PERSON OR ENTI TY FOR ANY EXTRA COSTS, EXPENSES, LOSSES, LOSS OF PROFI TS, OR ANY I NCI DENTAL,

CONSEQUENTI AL OR SPECI AL DAMAGES RESULTI NG FROM ANY PRODUCT DEFECT OR FROM THE USE OR I NABI LI TY TO USE THE PRODUCT, W HETHER

ARI SI NG I N  CONTRACT OR W ARRANTY, STATUTE, TORT, STRI CT LI ABI LI TY, NEGLI GENCE, OR OTHERW I SE.

Banner Engineering Corp. reserves the r ight  to change, m odify or im prove the design of the product  without  assum ing any obligat ions or liabilit ies relat ing to any product
previously m anufactured by Banner Engineering Corp.

  EZLSA-TE Series Tubular Enclosure

 www.bannerengineering.com  -  Tel:  + 1-763-544-3164  


